Week 4 Answers
Maths

Day 1 
A) 1980

B) 14

C) Two lines drawn parallel

D) (1,4)

E) (3,2)
F) 3

G) 209

H) £2, £1, 10p, 50p, 10p

I) 82cm

J) 3/2 x 7 = 21/2        21/2 or 10 ½

K) 1

L) 8.20

M) 8.198

N) 2:1

O) 20

Day 2 

A) 25.3
B) 132

C) 154

19 x 6 = 114      5 x 8 = 40     114 + 40 = 154

D) 60 – 18 = 42     42 ÷ 2 = 21   so the answer is 21cm

E) 7

F) 141.81
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23rd June

10% of 70

=

260.3 — 118.49

Here is a net of a cube.

have crosses on opposite faces

Draw one more cross so that the cube will

Here i Jessica's timetable on a Wednesday

lunch

1210 105





H) 65 minutes or 1 hour 5 minutes

I) 11.50am

J) 10% is 760 so 20% is 1520

K) 53

L) 53     5 x 12 -7 =53

M) 80% don’t wear glasses.   25% of 80% = 20%. 60 % of the class are girls without glasses.

Day 3 
A) 7.3

B) 270

C) E

D) Des Moines, Gila, Snake, Mississippi

E) 65km

F) 27

G) 1/5

H) 2, 6, 30

I) 3000

J) Total = 105              105 ÷ 5 = 21

K) 31.86

L) 234

M) 1 x 1 isn’t 2 so the correct answer is 1/18

N) 9 x 2 x 3 = 54       54 cm₃

O) 30% + 15% = 45%         55% of 320 000 = 176 000

176 000 visited the zoo.

Day 4 
A) 600

B) 12

C) Two thousand, three hundred and eighty

D) b and d

E) 6        22-4 – 18       18 ÷ 3 = 6

F) 8

G) 0.878

H) 90 seconds

I) 1/24

J) 511 817

K) Drinks cost £8.30                 Meals cost £18       60% of 18 =10.80

Total bill = £10.80 + £8.30 + £5 = £24.10

L) (3,9)

Day 5 
A) 6000

B) -7

C) 6

D) 182
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How many faces does this 3-D shape

have?

Mia buys 2 large packets of sweets and 3
small packets of sweets.

Large

52 sweets 26 sweets

How many sheets of card did Mia buy
altogether?

AXSL = o4

3526 =38 A
\82

Write the three missing digits to make this
addition correct
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F) 4/15

G) 658

H) 1 854 833

I) 80 – 23 = 57         57 ÷ 3 =19     19/80 are white

J) 169 (13 squared), 196 (14 squared), 225 (15 squared)

K) 57

L) 58 395

M) 32:8    or 4:1

N) Leo has 1/3     1/3 ÷ 3 = 1/9
GPS

Day 1

A) C

B) whose     who

C) Various answers e.g. The next door neighbours garden, which was overgrown with nettles, was an absolute eyesore.
D) The people, who were all becoming quite agitated, marched down the road towards the houses of parliament.
E) who

F) No because ‘which’ should replace ‘who’ because it is referring to an animal, not a person.
G) True because a relative clause is a type of subordinate clause which uses a relative pronoun to provide additional information.
Day 2
A) that      whose
B) Various answers, for example: My mum, whose hair is yellow and green, loves cooking. 

C)  In Spain, which is where I live, the climate is usually warm and dry. 

D) that
Day 3

A) which, who 

B) Various answers
C) The gentleman next door, whose name I forget, is an elderly man. 

D) whose
Day 4
A) No because ‘which ‘should replace ‘who’ as it is referring to a thing. 

B) Various answers, for example: whose power and strength was immeasurable… 

C) False because a relative pronoun can only be placed after the noun or pronoun it is modifying.

A) Day 5

B) No because ‘whose’ should have been used to refer to a possession. ‘Who’ is used when referring to the person. 

C) Various answers, for example: which are found in the savannahs of Africa… 

D)  False because ‘which’ introduces non-essential information, while ‘that’ introduces essential information.
